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Mr Green worked in a shop. The shop sold, cleaned and re-
paired -hearing-aids C i} W 2§ ). One day an old man entered ‘and put
one down in front of him without'a word. - .

“What’s the matter with it?”Mr Green said. The man did 'not
answer. Of course' Mr Green thought the man must be deaf (3%
#]) and something must be wrong with his hearing-aid ; so he said
again, more loudly (75 ), “What’s wrong with your hearing-
aid, sir?” Again the man.said nothing,so Mr Green shouted his
question again as loudly as he could.. . )

The man then took a pen and a piece. of paper and wrote ; “It
isn’t necessary to shout when you’re speaking to me. My ears are
as good as ‘yours. This hearing-aid is. my wife’s,not mine. I’ve just
had a throat(MEBE ) operation. I can hear very well ,but I can’t
speak1”



'

1. The old man went to the shop to buy a hearing-aid for his
wife. )

2. Mr Green thought something must be wrong with the old
man’s hearing-aid. = ' :

3. The old man didn’t answer Mr Green’s guestion because he
was deaf.

4. Mr Green wrote -his question down because the old man
could not speak. ’ ’

5. In order to answer Mr Green’s question, the old man had to

write down what he wanted to say on a piece of paper.

2
An old porter (72 T. \) had worked for the railway for a
very long time. One morning he was, standing in one of the big
railway stations and waiting for travellers:{ Jf &) to ask him to
help them ‘with their luggage (4T 25}, when he. saw a small man
running towards the trains with a big bag in his -hand.

_ The porter watched the man for 4 few seconds,and then the
man saw the porter. At once the-small man ran up to the porter
and said, “Can I catch( ) the 10:35 train to London., porter?”
He was breathing (I ) very fast,and he seemed worried.

The old porter looked-at him. for a moment and then said with

a smile, “Well,sir, I'd like to help you,but I can’t answer your

question because I don’t know how fast you can run along rails.

You see. "he explained, “the 10:35 train to London left five min-
2



Y

utes ago. ”

don

was

1. The old porter’s job was .

A. to stand in the railway. station
B. to answer the travellers’ questions
C. to help the travellers carry their luggage .

D: to.ask the travellers to help him

2.'0One inorning a small man

A. was waiting for the porter to help him
B. was running along rails -
C. was waiting for the frain to London

D. was in a hurty to.catch the 10:35 train to London

. The:small man "looked worried because

A. he couldn’ run so fast as the train
B. he wondered if he could catch the 1035 train to Eon-

C. the parter watched him for-a few seconds !
D. he lost his bag

. At the end of the story,the porter . L

A. told the small.man there was no 10:35 train to London

B. told the small man when he could catch the train-

C. helped the small man to.catch the train 1

D. played a joke on (FFE: A B9 IE5E) the small man

5. When the porter ‘told the man the train ‘had left, the time
-

A.10:40 B.10:35 C.10:30 D.10:45
(1.,23% 8 19914 3b 7 W a0 F 52 4k | A 5 — KM
3
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- John was a very famous pianist. When he was a small boy ,he
once played at a party at the home of a rich man. He was only
eight years old. But he had played the piano for several years. At
the party, he played a famous piece by Beethoven ([l £3¥). He
played wonderfully. .

The famous piece has in it several very long rests. In éach of
these rests he took his hands from the piano and waited. To him
this was very exciting. But i‘l seemed that the mother of the rich
man thought differently (fs {a] #} ). Finally, during one of these
rests she came over to him. She touched him on the head,with a
smile and said, “My boy, why don’t you play us what you know
well?” . S T

1. John once played the piano at a party when he ‘was only a
little child. i

2. John began to play the piano at.the age of eight. -

3. In each of the rests John took his hands from ‘the piano be-
cause he felt tired,

4. The rich man’s mother did not think John played. the piece
well. o '
5. In fact, the mother of the rich man knew the piece very

a

well.
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Tom walked into.a shop. It had a sign () outside ; “Sec-
(;"nd—hand( IHH#]) clothes bought and sold”. He was carrying an old
pair of trousers and asked the owner of the shop,“How much will
you give me for these?”The man looked at them and then said,
“Two dollars( 3 5). ” ’

“What| ”said Tom. “I had guessed they were worth at least
(ZE) five.” _
| “No, "said the man, “they aren’t worth a cent (3£ 4}) more

.than two dollars. * ' )

-“Well, ” said Tom, taking two dollars out of his ‘pocket,
“here’s your money. These trousers wetre hanging outside yaour
shop. The list price (£ {f ) of them was six dollars and a. half. But I
thought that was too much money,so I wanted to find out how
much they were really worth. ”

Then he walked out of the shop with the pair of trousers and
disappeared before the shop,owner could think of anything to say.

1. At first the owner of the shop thought that Tom o

A. was trying. to fool him

B. was trying to steal the trousers

C. wanted to scll the trousers ¢
D. wanted to buy the trousers
2. The owner of the shop for the old trousers.

- A. would give Tom two dollars



B. would pay three dollars
C. would pay five dollars
D. would give Tom six dollars and a half
3. The shop owner insisted that the trousers were worth only
two- dollars because .
A. he wanted to sell them cheaply (E{ft)
B. he wanted to buy them cheaply M
C. he didn’t like the trousers
D. they were old and dirty’ |
4. In fact,the trousers _
- A. were hanging ‘inside the shop
B. were stolen by Tom from the shop
C. had been the shop ownet’s
D. had been tom’s
5. From the ‘story we know that __ . .cheaper than the list
price. ‘ . : .
A. the owner sold the trousers two dollars
B.. Tom sold the trousers.one dollar ard a :halh
C. the owner bought the trousers three. dollars
D. Tom ‘bought the trousers four dollats and a half .
(3.4i& 81992 96 X F #1 P2 I | A 5 45 — XA
2] 5 . .
L o
Mr White: was a chicken farmer. He had hundreds of chicken-
$,and sold the eggs and the meat and got .quite a lot of money for
4]



them , but he lived in a very hot part of the country,and he found
that his hens could hardly lay ('F) any eggs in the summer. So he
decided to put air-conditioning (55 {&) into his chicken-house so
that the hens would lay well all threugh the.year and he could get
more eggs and in- that way get more money.

The owner of the ait-conditioning company (% &] ) came to
see him,and when he saw Mr White’s housejhe thought that he
might be able to persuade (%) him to buy some air-conditioning
for that too.. ' :

. “Your wife would be much happier and have a. nicer house to
live in then, "he said to Mir White. but Mr White was not interest-
ed. P

“My ‘wife doesn’t lay eggs. “he said. v

1. Mr White’s hens could lay few eggs when the weather was
too hot. . .

2. Mr White decided to buy air-conditioning for his house be-
cause he wanted to make his, wife much, happier. ,

3. The owner of the company hoped to put air-conditioning
into both Mr White’s. housé. and his chickeri-house.

4. Air-conditioning in Mr White’s house would. not bring him
more .money. .

5. Neither Mr White nor the owner of the company wanted to

get more money.

"
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-Our village carpenter (K [£) ; John Hill,came one day and

made a dining table for. my wife. He made.it just ‘the right size to

fill the space between the two windows . When: [ got home that

evening, John was drinking a. cup of tea and writing out his bill (i
1) for the job. ' ' '

day.
it?”

My wife said to me,quietly, “That’s his ninth cup of tea to-

”but she said,in a loud voice ,“It’s.a beautiful table ,dear ,isn’t

“I’ll decide about that when I see the bill,”I said.
John laughed and gave me his bill for the work. I read.

One dining table: 110-November 1989 -
Cost (R 2 ; 3 Fi) of wood £17. 00 £ B H45 pound)
Paint (Jiii ) £1.50 ,
Work, 8 hours(£ 1 an hour) £8.00 ‘
Total( & 3}) £36.50

When I was looking at the bill, John said,“It’ :been a fine

day ,hasn’t it?Quite sunny. ”

“Yes, "I said. “I’m glad it’s only the 10th of Novembet. ”
“Me, too, "said John. “You wait—it’ll be a lot colder by the

”»

end of the month. '

“Yes. colder—and more expensive! Dining tables will be

£ 20 more expensive on November 30th,won’t they ,John?”

John looked hard at me for half a minute. Was there a little



smile in his two blue eyes? I gave his bill back to him. .
“If it isn’t too' much trouble,John,”1 said, “please add it up
again. You can forget the date—"
I paid him £26. 50 and he was happy to get it.
1. Why did John talk about the weather when the writer was
looking at the bill? .
A. Because he didn’t want the writer to go through the bill
carefully.
B. Because it was really a. fine day.
C. Because he wanted. the writer ta check the bill.carefully.
D. Because he wanted to tell the writer what the weather
was like. )
2. Why did the writer say that dining tables would be 20
more expensive on November 30th?
A. Because it was difficult to make dining tables in -cold
weather.
B. Because paint. would be more expensive..
C. Because the cost of wood would be more expensive. -
D. Because he thought John would almost certainly add the
date to the cost of the dining table.
3. The writer thought John would ask for - if he made a
dining table on the last day of November.
A. £20.00 B. £46.50
C. £56.50.  D: £26.50 :

4. When the wrier gave him the money ,John was happy be-

<ause -




A. he. got what he should get for his work —
B. he got much more money for his work
C.he got-the money easily

D. he didn’t have to add up the costs again

5. From the story we know that

A. John made a mistake in the bill
B. John tried to fool the writer in order to get more money
for his work.
C. John had written out the bill before the writer: got home
D. John stilt wanted to get f36. 50 for his work in the end
(5.6 A 1993 F F AP Yk ¥4k —iKM)

7

What ‘a fine day. The sun is shining-and everything 'l;Oks
bright. Can you feel the heat when you stand in the sun?The sun .
gives the heat from very far away. It i$ hard to believe that the sun
is about one hundred and fifty million kilometres away. The sun
looks small because it is so far from us,but. it’s.really very huge.

The earth circles the sun. It takes one vedr for the earth to go
aroun5 the sun. And at the same. time ,the earth itself is spinning
(H%) around once every twenty-four hours.. .

The sun gives us light. It keeps us warm. It riakes things
grow. Plants, animals and people need the sun. We: can not live
without ‘the sun.

1. On a fine day everything is bright because the sun is shin-

10 '



ing.

2. The sun gives us heat and light.. -

3. It is about: 150 000 000 kilometres: frdm the: earth: to the
sun.

4. In fact the sun isn’t very big because it’s too far.away {rom
us. . v

5. It takes the earth 24 hours to go around the sun.

6. We can not live withot__xt the sun because all the li\ii_ng

things on the earth depend on_the suri. . .

8

Long, long ago, as the birds flew over the world, they saw
that men had a beautiful thing. It was a ‘bright ,burhing thing. Men
cooked their food and képt themselves warm with it. The birds
thought life- would. be bettet if they too could have this thing. So
they decided to send a messenger ({Z1{fi) to fumans 6 dsk for a lit-
tle piece of it. They thought Chicken was a good one to send be-
cause he was a good talker. So Chicken went.

He flew far over the forest until he came to the towns of
men. He went into a town and saw the burning thing. Hé learned
that it was called“Fire”. He did not ask for a piece. of it to take
back to the birds because there was so much food .1¥ing around
men’s houses that he started eating and forgot what he had come
for.

Mern liked Chicken because he crowed.(Ifi 0l) very early in

11



